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Please check whether you have got the right question
N.B: 1. Question No. 1is compulsory. Rl
2. Attempt any three questions from re m@? “ng[ﬁ_é

;_jo*#_k

1. a) Explain Waterfall model in detall. _Q'-"'__..: e
b) What is outsourcing and explain its different wp%sﬁ Q 3 '\:_-' ;
2. a) Explain the Feasibility study and its types and negq“' Sy & 1
b) Explain the Project Life cycle, ;f_l i _:1 ;ﬁm: :ﬂ_i Bt 10
3. a) What are requirement Elicitation techmques? lst angj brfef them m dqt ﬁ\ B 10
b) Explain the Knowledge areas of PI’GJECt M‘aﬁagement R s B & . *{4 ' 10
4. a) Assume that the size of organic type sjw prﬁ}ect ﬁas hEgn C 10
The Avg. Determine the effnrt required to. ﬂe?ejﬂg-thhx _”
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b) Explain the stmctgmdw‘a]kthrquah wqa-tgi? S 10
5. a) Explain Prucurél:pram h&&nagqmgntqnﬂetaﬂ 10
b) Consider a pmféctwfgb fdjgﬂingfuncthnal un 10
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